==
0O
5
=F
=
2
=1
TE
(1
==
g
|
A

pICk up 1 T%‘-EE%E% ................................................ 2
pick up 2 HBEHRIATLERBERLMAEE (GISEHE) 3
pick up 3 THNBURBEHEBEERE S e 3
I = FH (85 B o) e 4
2 BE [E Bl (FHEFHDUN) coreerrrnene 5
T OB ETAR (BRI ST) cevvvrrereeeeeeeniiiii 5
T O FE B (B D o) e 6
I&'-F bl E’E ? (2N B ) ceeeeereeii 6
E OF O OB E R PR) e 7
K ¥ 7 (2 BB ) e 7
INZAR BE 2 (FHEHA D)) crrrrrrrerreee 8
»%ﬁﬂ:l 5_’,5‘5 %] @Eﬁ:—lﬁﬁ%% ................................................ 9
FEWQJ%B‘@EQ@?@ ...................................................... 9
"H?Wﬁéi\ﬁ‘@gﬁﬁﬁ(@ ................................................... 10
ﬁWﬁ;‘%ﬁﬁ?&"*ﬁ%@ ................................................... 10
%E%% .................................................................. 11
é%ﬁ%%ﬁ% ............................................................... 11
BEEA R A — N weeeeeeeee e 12
%E%jl\ .................................................................. 13
ﬁﬂﬂ?ﬁ?ﬁﬁ%%%ﬂégﬁ% ............................................. 15
FEUVRD EIBIE A TEL vvvvvrrrrrrrmmmmmnnnn e 15
%%% ..................................................................... 16
%ﬁ%,’féga . 'ﬂijl ............................................................ 17 v

YouTube
ST ERT v R

REMBRIN—LAR—IDSESFiRE
RIETBENTEETT,




